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. The median of the observations 46, 64,
87, 41, 58, 77, 35, 90, 55, 92, 33 after

MATHEMATICS

replacing 92 by 99 and 41 by 43 Is
A) 55 B) 58
C) 64 D) 43

. If aiine 3x — ky = 5 passes through

(3, 2), then the value of 'k’ is
A) 4 B) 3
C) 2 D) 1

. The rationalizing factor of abdg is

a
A) (/: B) JE
b b
c) Jfa™ D) (&
bn+1 bn‘1
. Match the following :
Solids Volume
1. Cone a. % nrd
2, Cylinder b. ar*h
3. Sphere c. Enra
3
4, Hemisphere d. %urzh
. a2y
3
A) 1-d,2-b,3~58,4-¢
B) 1-d,2-b,3-a,4-c¢c
C)1-e,2-b,83-a,4-c
D)1-e,2-d,3-a,4-b

nfvra

. AR Y2FH 997 3l 41 M43 T s

T R ST 46, 64, 87, 41, 58, 77,
35, 90, 55, 92, 33 # Tferw §

A) 55 B) 58
C) 64 D) 43
. IR (3, 2) | T TH T 3x — ky = 5
Y kT d
A) 4 B) 3
C) 2 D) 1
a
. abdg w1 i e §

a
o

C) an+1
bn+1

. g AR |

LR L
1. Vi (F)

2. seM (Rier)
3. TR

Page No.3 B
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5. |fm and n are the roots of the quadratic

equation > +px+8=0withm-n=2
then the value of 'p’ is

A) £8
B) 7
C) 6
D) £5

. If the quadratic equation

4%? — (p — 2) x + 1 = 0 has equal roots
then the value of 'p’ are

A) 2or6
B) 2or-6

C)-2o0r-6

D) -2or6

. The quadrilateral obtained by joining

the points (1, 1), (-1, 5), (7, 9) and
(9,5)is

A) Square

B) Rhombus

C) Rectangle

D) Parallelogram

. The linear equation coincide with the

line2x+3y=12is
A) 2x+3y =15
B) 7x + 14y =13
C) 8x + 12y = 48
D) 8x+ 10y =18

5. 3R m 3R n fgEnaes T
X2+px+8=0FTHRAMM~-n=2
A pwMAAE
A) +8
B) £7
C) 6
D) +5

6. 3T fEm Flwor 4@ - (p—-2) x+1=0
FYAGEAE, W P R
A) 2716
B) 2T -6
C) -2d-6
D) —26

7. {1, 1), (=1, 5), (7, 9) 3ir (9, 5) fégsi

N et W g T 8, TH R
A) =

B) waegy«

C) ¥mgq

D) ¥AHIE =S

8. e T I 2% + 3y = 12 F WY A
T, 78 %
A) 2x+ 3y =15
B) 7x+ 14y =13
C) B8x+ 12y =48
D) 8x+ 10y =18

1 PECE
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9. Iftang = ?then the value of sin 9 is

10.

11.

4

A 15

4

i_

B) tg
—4 4
C) -butnot 7

4 -4
D) 5 but not 5
If sin (A —B) = 1 and
cos {2A -B) = ﬁ then the value of

2
sin A and cos B are

The simplest form of

(e

A} 1

1
B) x® _X_a

C) x"+xla

1
D) x'® %

Page No. 5

-4
9. M tan 6= — 8, dsineFIgea d

10.

11.

D) g%m:éiﬂﬁf

3 sin (3A - B) = 1 afk
cos (2A—B) = ¥3 %, 7t sin A 3itc
cos BRI 2

A) V3,0
2

3o

FTEEI R
A} 1

B) -1

xa
C) x° +;:?

1
D) x18 _x_w_

1 PECE
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12,

13.

14.

15.

The mean of 15 observations is 23. If
each observation is multiplied by 2, then

new mean Is
A) 23
B) 46
C) 25
D) 36

There are 13 girls and 15 boys in a line.
If one student is chosen at random, then
the probability that he is not a boy is
1

15

13

28

A

18

A)

B)

C)
1

Which one of the following are not the
sides of a triangle ?

A) 2cm,3cm, 5cm

B) 5cm,4cm, Bcm

C) 8cm,3¢cm, 3cm

D) 9cm, 4 cm, 11 cm

1,3, 6,10, ..... are triangular numbers.
The smallest triangular number that
exactly divisible by 9 is

A) 18 B) 27

C) 36 D) 45

Page No. 6
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12.

13.

14.

15.

15 araeil o ofa 23 31 1 Tow
Tt 1 2 & o fon sme o 7 el
Lyl

A) 23

B) 46

C) 25

D) 36

s ufF H 13 defmf ok 15 wew E
R I ¥ Fh s i g A A
3% TS 7 Bl I W ]

Ak

15

13

28

A}
B)
o) =5
D) %

T J A e e Furd adi R 7

A) 2cm,3cm, 5cm
B) 5cm, 4 cm, 8cm
C) 8ecm,3cm,9cm

D) 9cm,4cm, 11 cm

1, 3, 6, 10, ... B deat €1 v

B e g =i 9 A Juie: v @
qE R

A) 18 B) 27

C) 36 D) 45
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16. Ifa, b, c are In AP and

17.

18.

19.

a+b b+c
s X, o Y then the vaiue of

(x+y)is
A) 2a

B) 2b

C) 2(a+b)
D) 2(b+c)

Four coins are tossed. The chance of
getting none of the face as head is

Pl o | =
! =+ @ls o

D)

If (n? — 1) is divisible by 8 then 'n’ is
A) a natural number

B) an integer

C) an even integer

D) an odd integer

A cube of side 4 cm cut into small
cubes of each side 1 cm. The ratio of
the surface area of all smaller cubes to
that of large one is

A)1:2
B)1:4
C) 4:1
D)2:1

Page No. 7

16. 3" a, b, c AP ¥ & afft
a+b b+c

2 =Y @R(x+y)
w8
A) 2a
B) 2b
C) 2(a+Db)
D) 2(b +c)

17. IR Rt = Io0 9 W Rl 1 ofi R
T 3 ) Hwra R

—
cnl-"

A)

B)

C)

Bl D)= ]

D)

18. SR B8A (N2 - 1) WA n'}
A) TR T
B) s
C) i & (gm qurler)
D) form gl

19. TF 4 cm Y51 & 99 1 ¥ 1 om o
FFRAFI MR ISR IR TR
o & Fae fand 9 g 8

A)1:2

B) 1:4

C) 4:1

D) 2:1

1 PECE
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20. A 20 m deep well with diameter 7 m
is dug and the earth from digging is
spread evenly to form a platform of
22 m x 14 m. The height of the
ptatform so formed is

A) 25m
B) 3.5m
C)5m
D) 7m

21. If one root of the equation
xX+ax+b=0is % times the other.

Then the correct relation between
aandbis

A) 3a?=16b

B) 16a?=3b

C) 3a=16b?

D) 16a = 3b?

22. The area of a triangle formed by the
points (a, b +¢c), (b,c+a),(c,a+Db}is

A) a+b+c

B) 8¢
2
o) 1

D) O

23, ffy=m+m?+m?+.... .o when |m| <1,

then the value of ‘'m’ is

y
A ¥ B) —
)% e
= 1
C) 1-y D) +y
y y

>

20. TH 7 m = 31 20 m TR F Fi GeH
) TR R ol 3T GEn A i A
22 m x 14 m &1 7= 99191 T ], 39 T
Hdad R
A) 25m
B) 3.5m
C)5m
D) 7m

21. M ¥ + ax + b = O Gl =i T I
@ F %ﬂ'—ﬁ%?ﬁaaﬂrb%
Ao wm o g6y g
A) 3a® = 16b
B) 16a2 = 3b
C) 3a = 16b?
D) 16a = 3b?

22. (a, b+c¢), (b, ¢ +a), (c, a + b) fergaii
TR T 7Y 3R 1 s &

A) a+b+c

B) 3¢
2
C) 1

D) O

23, ARy=m+m2+m?+ ... o
Im| <188 'm FIqE 3

A _Y_ _/
) 1-y B) 1+y
c) =¥ D) Lhy
y y
1 PECE
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24. Inthe figure, a semicircle with centre O
is drawn on AB = 8 cm. If |ABP =60°
then the area of AABP is

A

O

B
J3

—cm
A) 8

B) 8cm
C) 843 cm
D) 43 cm

25. The top of a partially broken tree touches
the ground at a point 10 m from the foot
of it and makes an angle of elevation of
30° from the ground. The height of the
tree is

10
A)ﬁm
B) 1043 m
c) ¥3 m

10
D) J3am

o woen (3] {2 (3]

simplified we get

125 27
A) 27 B) 125
C) 1 ] D) 0

Page No. 9

24, 3rpfa § T TEgH F Hafag O H
AB = 8 cm | fufie frRm T ® | svR
|ABP = 60° & i AABP =1 8% @

A

O¢

B
V3

A) ?Cm
B) 8cm
C) 843 cm

D) 443 cm

25, ¥ W i w9 § g2 gom U o
IR # 10 m i g{ o sl g @ iR
el & 30° T IFTH R0 TG & AN I
S §

10
A) ﬁ m
B) 1043 m
C) ﬂ m
10
D) J3m

s1\e (oY (5)°
= (5 {873
! gow el firer &
125 27
A) 57 B) 125
C) 1 D) 0
1 PECE
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27.

28.

29.

30.

The reflection of the point (-3, —2) in
Y axis is

A) (3,-2)
B) (-3,2)
C) (3,2
D) (0,-2)

A rational number between Eand 3
is 17 11

A) 3
77

) 31

c) 28

~J

D) r
If a=2 and b = 3, then the value of
(@"+b*)"is

A) 17

B) 72

1
C)W
1

D)ﬁ

If f(x) = X2 — 5x + 7, then 1(2) — f(~1) =
A) -34

B) 34

C) 12

D) -12

27. (-3, -2) g = Y 1@ & v e &
A) (3,-2)
B) (-3,2)
C) (3,2)
D) (0,-2)

28, ; afR %%aﬁaﬁq&ﬁam%

A 3B
77

B) 31
77
c) 28
11

7
Dy L
)9

29. AR a=23Nb=32A (a°+b*)"
HF B
A) 17
B) 72

#l4

17

2

72

C)

D)

30. W f(x) = X2 — 5% + 7 {(2) — f(~1) =
A) —34
B) 34
C) 12
D) -12
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31,

32,

33.

34,

If sin@ + cosecd = 2 then
sin%8 + cosec? =

A) 4
B) 3
C) 2
D) 1

Two vertices of a triangle are (1, 3) and
(4, - 5). It its centroid is (7, 2) then the

third vertex is
A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

Which one of the following is always

true with respect to parallel lines ?
A} sum of their slopes is zero

B) difference of their slopes is zero
C) product of their slopes is zero
D) quotient of their slopes is — 1

2 sin 60° cos 30° cosec 45°
tan 45° cos 60° sin 45°

simplified we get
A) B

B) 3.2
3
C) ﬁ
av2

BT

When

Page No. 11

31. 3R sin@ + cosech = 2 &, 1\ sin0 +
cosec?0 =
A) 4
B) 3
C) 2
D) 1

32. = wg g (1,3) 3t (4,-5) % 1 a7
39 FEF (7, 2) |, A Frow i dm
A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

33, THHGCERl F day 3§ 37 A e ar
T HE R ?
A) 3T T 1 Fel 1T I Tiell &
B) 3% TEIH! %1 99 Y[ B &
C) 3% TEH! Sl ORe T Tt
D) 3% gl 1 wfey — 1 B R

2sin 60° cos 30° cosec 45°
tan 45° cos 60° sin 45°

REIER ARSI R

A) 6

B) 3.2

34.

C) %
32

=

1 PECE
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35.

36.

37.

The sum of first 20 odd natural
numbers Is

A) 210

B) 250

C) 200

D) 400

The sum of the numerator and the
denominator of a fraction is equal
to 7. Four times the numerator is 8 less

than 5 times the denominator. Then the
fraction is

A)

B)
C)

D)

Bl Mo |0

In the figure, APQR IIl APST and
perimeter of APQR : perimeter of APST
=34, Then the area of APST : area of

APQR =
P

T
Q
R
S
A) 16:9 B) 9:16
C) 3:4 D) 4:3

Page No. 12

35. TE 20 forve srepferan Tt &
am

A) 210
B) 250
C) 200
D) 400

36 T RAEF M AW HAM 7 ] | W
FATRESTNABAFAL, A
i g

A)

B)

C)

D)
37. = R g3 arpfa & 3

APQR |l APST 3R APQR =i ofifty ;

APSTHofft =3: 4, APST =1
&% : APQR F1 876 8

Al N[ O= Gl

R T
Q<
_ R
S
A) 16:9 B) 9:16
C) 3:4 D) 4:3

1 PECE
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38. Every person in a room shake hands

39.

40.

41,

with every other person. The total
number of handshakes is 45. The

number of persons in the room is
A) 5
B) 10
C) 15
D) 20

If x(x — 2) = 1, then the value of x? + lz
is S

A} 0
B) 2
C) 4
D) 6

The value of tan 7° tan 23° tan 39°
tan 60° tan 51° tan 67° tan 83° is
A) O

B) 1

C) V3
:

D)ﬁ

An arc subtends an angle 60° at the
centre of a circle of radius 6 cm then
length of minor and major arcs are

A)2rand 10~
B) 10nand2n
C)8rand4n
D) 4rnand6n

Page No. 13

38. TF FR 1 e AT gk AR & 7Y

39.

40.

41,

Tireman & 1 o9 e i g TEm 45 R
A 38 T & <l e ?

A) 5
B) 10
C) 15
D) 20

AR x(x-2) =184 x2+—!§-ﬂ
X

T8
A) 0
B) 2
C) 4
D) 6

tan 7° tan 23° tan 39° tan 60° tan 51°
tan 67° tan 83° T YFI B

A) 0
B) 1
C) V3

1
D)T§

T 6 om T 3 99 % &% A T 9 60°
v 27 Htar § g = iR geg A
i v 8

A) 27310 n

B) 10nsR2x

C) 8n3l4n

D) 4n3iR6n
1 PECE
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42. lfp+q=6and pq=8thenp?®+q®= 42, IMp+q=63Mpg=8%Wp°+q°=

A) 216 A) 216
B) 144 B) 144
C) 72 C) 72
D) 36 D) 36

43. In the figure, if AB || CD, CD || EF and

x:y=3:2thenz=

Page No. 14

43.

FH i H IR AB || CD, CD || EF 3R
x:y=3:2%,dz=

A) 36° A) 36°
B) 72° B) 72°
C) 144° C) 144°
D) 108° D) 108°
. In two concentric circles of radii 15 cm 44. T gehi-sa 79 B 15 cm 3l 9 cm
and 9 cm, the length of a biggest chord ? 4l 92 g9 ) gud wdl offn S fr s
of the larger circle which is a tangent to Ta it waet Y ¥, 5o v 2
the smaller circle is
A) 24 cm A) 24 cm
B) 20 cm B) 20 cm
C) 12¢m C) t2cm
D) 10cm D) 10cm

1 PECE




45. In the figure, A ABC and A CDE are
right angled triangles. If AC = 24 cm,

CE =7 ¢m and |ACB =|CED then

AE is
C
D E

A B
A) 30 cm
B) 25cm
C):22cm
D) 15¢cm

46. The sum of two numbers is 161. If one
of the numbers is 30% more than the
other then the numbers are

A) 71 and 90
B) 70 and 91
C) 54 and 107
D) 60 and 101

47. The common factor of (p? + 9_p + 14)
and (p? + 13p + 42) is

A)p+2
B)p+6
C)p+3
D)p+7

Page No. 15

45. i § A ABC 3 A CDE &
B 8 | 3K AC = 24 cm, CE = 7 cm
i |ACB =[CED §, @1 AE &

C
D E
A B
A) 30cm
B) 25cm
C) 22cm
D) 15em

46. e F A 161 ¥ 4l 37 g §
U T g W 30% A & A T8 vEd &
A) 71 3 90
B) 70 2fw 91
C) 54 3R 107
D) 60 sit 101

47. (P +9p + 14) 3 (p2 + 13p + 42)
T PGS B
A)p+2
B)p+6
C)p+3

D)p+7
1 PECE
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48.

49,

50.

Pramod and Praveen are the sons of 48.
Prajwal. The present age of Prajwal is
4 times the age of Pramod and & times
the age of Praveen. If the sum of their
ages is equal to 51 years then the
present ages of sons are

A) 9 years and 6 years
B) 8 years and 9 years
C) 9 years and 4 years

D) 5years and 9 years

In a circle inscribed in AMNO having 49,
MN =12 cm, MO = 14 cm and
NO = 18 cm touching sides at P, Q
and R, then MP + NQ + RO is

A) 18 cm
B} 20ecm
C) 22cm

D) 44 cm

The angle between the hands of a clock 50.
when the time is 4 O’ clock is

A) 60°
B) 90°
C) 150°

D) 120°

Page No. 16

' e TR e TR el 2

TR 3 weiv S F 9 € | wead
f T 2 TR i AR 4 T
i efior <t o7/ @ 6 T | AR It
1Y 1AM 51 T4 % TR B, T &2 A
FAnH Y B

A) 9 Tret 3R 6 T

B) 8 et 3R 9 |/

C) 9 9Te iR 4 9

D) 5§ 3R 9 TiA

AMNO T T 91 =l 3ifcra form man 2,
@ MN = 12 cm, MO = 14 cm 3R
NO=18cme, Siyadi: P, Q,R
W ol we €, AMP + NQ+ RO #

A) 18 cm
B) 20 cm
C) 22cm
D} 44 cm

4 S T UE & hidl & f= H F0
T e

A) 60°
B) 90°
C) 150°
D) 120°

1 PECE
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51,

52.

53.

b4,

55,

CHEMISTRY

When lead nitrate Is heated emission
of______ ocours.

A) N,O,

B) NO,

C) NO

D) N,

Na,SO, + BaCl, —— BaSO, +
2NaCl is an example for
reaction.

A) Displacement

B) Double displacement

C) Thermal decomposition

D) Redox

Chips manufacturers usually flush
bagsofchipswith_______gas
to prevent the chips from getting
oxidised.

A) Oxygen

B) Nitrogen

C) Hydrogen

D) Carbon dioxide

On passing excess of carbon dloxide
through lime water Is
obtained.

A) CaCo,
B) Ca(OH),
C) CaH,

D) Ca(HCO,),

solution does not
conduct electricity.
A) Sodium hydroxide
B) Calcium hydroxide
C) Glucose
D) Hydrochloric acid

Page No. 17

e iy

51. W8 g L i T e & o
1 IJeereia qrn an § |
A) N,O,
B) NO,
C) NO
D) N,

52. Na,SO, + BaCl, — BaSO0, +
2NaCl 78 wiefsmar &
o e SaEm 2
A) freemam
B) g0 fremH
C) & amgeq
D) &

53, fag fmtar st @ o = s
CER:RiE TR ek ke U
REFM AR wOFaE |
A) AR
B) M
C) A
D) wrETeRaTFE

54, I3 % T & weaw @ arfefem
Fieenaiale wden
T BT |
A) CaCo,
B) Ca(OH),
C) CaH,
D) Ca(HCO,),

55. =1 U faeet =1 w9

T e |

A) AifEm Fgis
B) Fedian giade
C) w=d

D) gt e
' 1 PECE
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56. Manganese react with very dilute 56. =gd Tach HNO, & &1 AT % wia
HNO, to evolve gas. o s et |
A) H, A) H,
B} N, B) N,
C) o, 0) 0,
D) NO, D) NO,
7. The order of reactivity is 57. wefrmemsm__ ®)
A) Al>Mg> Fe >Zn A) Al>Mg>Fe>2Zn
B) Mg> Al>2Zn > Fe B) Mg > Al > Zn > Fe
C) Al>Mg>2Zn> Fe C) Al>Mg>Zn>Fe
D) Mg > Al > Fe > Zn D) Mg > Al>Fe>2Zn
58. Cinnabar is 58. f&=memR B
A) HgO A) HgO
B) CuO B) CuO
C) HgS C) HgS
D) Cu,S D) Cu,S
59. Sulphide ores are converted in to 59. HEHTS TTH! F EL
oxides by ifaarsey ¥ Tiafda SR s @
A) Combination A) T
B) Reduction B) wHl
C) Calcination C) w1
D) Roasting D)
60. Fe,0,, + 2Al,, —2Fe, + AL,O,  + Heat. 60. Fe,0,,+ 2Al,— 2Fe, + ALO, + Heat.
This reaction is cailed =5 TR =) el
A) Calcination A) TR
B) Thermit reaction B) gmise wRifiFn
C) Thermal reaction C) avie wfifden
D) Displacement D) T
61. Modern periodic table has 61. anyfrer arvad awoft # Fafemt g
periods. A) 18
A) 18 B) 8
B) 8 C) 7
C)7
D) 17 ®)) i/




62. Metalloids is
A} Silicon
B) Carbon
C) Magnesium

D) Iron

63. M shell of chlorine contains
electrons,

A) 7
B) 6
C) 4
D) 5

64. Metal oxide + Acid — X + water, X is
A) Metal
B) Acid
C) Base
D) Salt

65. Hydronium ion is
A) H*
B) H,0*
C) OH,®
D) O
66. gas is liberated when
zinc is treated with H,SO,.
A) O,
B) SO,

C) H,
D) SO,

>

62. WTrAITEH (uTg ¥9) datom 5
A) fafrsia '
B) FrEA
C) tmfmm
D) <

63. TS TIIH
BIdE |

A) 7
B) 6
C) 4
D) 5

64. UTq ATHHTEE + AR — X + AL,
X 4

A) urg
B) a7
C) 3w
D) T

65. ¥ A {
A) H*
B) H,0*
C) OH,2

o]
D) OH

66. Ao @ 59 H,SO,
% 1Y R 1 U= R ST €
A) O,
B) SO,
C) H,
D) SO,

1 PECE
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67.

68.

69.

70.

71.

Quick lime Is
A) CaO

B) CaCl,

C) Ca(OH),
D) Ca(HCO,),

Slaked lime reacts slowly with CO, in
air to form a thin layer of

A) Ca(HCO,),
B) CaO

C) Ca(OH),
D) CaCO,

During respiration
combines with oxygen in the cells and
produces CO, and water.

A) Sucrose
B) Fructose
C) Glucose
D) Galactose

Colour of ferrous sulphate crystals
A) Orange

B) Green

C) Blue

D) Yellow

Plaster Of Paris (POP) is
A) CaS0,.2H,0

B) CaSO,.H,0

C) CaS0,.}%2H,0

D) CaSO,.%4H,0

Page No. 20

67.

68,

69.

70.

LAl

wagm_ %
A) CaO

B) CaCli,

C) Ca(CH),

D) Ca(HCO,),

T g3t < Wi i g ¥ CO, % W
=} qaett T ' & fore

Wferfsran e € |

A) Ca(HCO),),

B) CaO

C) Ca(OH),

D) CaCQ,

U % A SR o
st &% w firere CO, 3 Tt =
IeqTEA AT & |
A) gHE
B) $&RH

C) R
D) e

TSR TeF Thiesh 1 1 21
A) ot

B) &

C) e

D) e

_ wRRAwIE (POP)R |
A) CaS0,.2H,0

B) CaSO,.H,0

C) CaSO0,.%:H,0

D) CaS0,.%H,0
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72,

73.

74.

75,

76.

The ability of metals to be drawn in to
thin wires is called

A) Malleability
B) Ductility

C) Conductivity
D) Sonorous

is most malleable metal.
A) Au
B) Al
C) Fe
D) Zn

is non-metal but it is
lustrous.

A} Carbon
B) Chlorine
C) Bromine
D) lodine

does not react with cold
water.

A) Sodium
B) Calcium
C) Magnesium
D) Potassium

Dehydration of ethanol gives
A) ethane

B) ethanoic acid

C) ethene

D) ether

72.

73.

74.

75.

76.

TGt 1 Tael ani § Wiww S gEa &
_ FEISme

A) seaa-rae

B) srefena

C) TagH

D) AYqt/ee

s EmEdE g |
A) Au
B) Al
C) Fe
D) Zn

Ty RafmameeErt |
A) &R
B) FAA
C) s
D) €
3 U 3w wfafseET e
AT |
A) Gifead
B) Hedraw
C) Tftrm
D) wifimm

AT 1 Fetefieron
A) 389

B) 3Tes e
C) $of=

D) S|

a1 8
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78.

79.

80.

81.

_  solution of acetic acid in
water is called vinegar.

A} 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

The metting point of pure ethanoic
acid is

A) 300 K
B) 298 K
C) 310K
D) 290 K

Esters react in the presence of acid
or base to give alcohol and carboxylic
acid is called

A) Esterification
B) Saphonification
C) Hydrolysis

D) Rancidity

Properties of elements are periodic
function of their

A) atomic mass
B) atomic number
C) atomic size

D) atoemic nature

Recrystallisation of sodium carbonate
produces

A) Baking Soda

B) Washing Soda

C) Bleaching Powder
D) Gypsum

Page No. 22

77. Wit # wifes e e

78,

79,

80.

81.

) TR FRT I R |
A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

e 3915 Tfs 1 e R
A) 300K
B) 298 K
C) 310K
D) 290 K

T Tedieiar iR wraifRifers e 33
% 1w wfre 9 i sl & wfafan
war € | R/ FECE |

A) TRifRHR=

B) ¥R

C) ¥ffa

D) WHfufsdh

! & 0 I
FEE

A) YT YR
B) WA FHi%
C) T} ST
D) W] Srpfe

Bifsaw e # [; frechwm sanfia
T 8§

A) ST Her
B) YT 1 WISt
C) sefifim drex
D) foeam

% Imafies

-
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82.

B83.

84,

85.

86.

is used as plaster for
supporting fractured bones in the right
position.

A) CaSO,10H,0
B) CaSO,2H,0
C) CaSO,/,H,0
D) CaSO,

metal exist as liquid at
room temperature.

A) Bromine
B) Mercury
C) Lead
D) Zinc

is an allotrope of carbon
which is hardest in nature.

A) Diamond
B) Graphite
C) Silicon Carbide
D} Fullerene

Amphoteric oxide is
A) CuO
B) Na,0
C) K,0
D) ALO,

pH of blood is
A) 5.6
B) 6.5
C) 74
D) 4.7
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82.

83.

84,

85.

86.

__ wiudtforfe o gfea g
% Anefa F fore reireet & v H Iugm
ER ik A

A) CaSO, 10H,0

B) CaSO,'2H,0

C) CaSO,*"/,H,0

D) CaSO,

YT FR & aAH | ol
(T@) FFUH MR R |
A) TR
B) wifk (wm)
C) o
D) = (Srwan)

Yt B FER S e I JTTY I
AR ?

A) SEHE

B) The

C) fafeerm =l

D) FeiiA

Iyt ffaEe B)

A} CuO
B) Na,0
C) K,0

D) ALO,

T 61 pH B
A) 5.6
B) 6.5
C) 7.4
D) 4.7

1 PECE
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87. Our stomach produces
acld which helps in the digestion.
A) H,SO,
B) HNO,
C) H,PO,
D) HCI

88. Stinging hair of nettie leaves inject

causing burning pain.

A) Ethanoic acid
B} Methanoic acid
C) Propanoic acid
D) Butanoic acid

89. Baking soda is
A) Sodium carbonate
B) Sodium hydrogen carbonate
C) Sodium hydroxide
D) Sodium chloride

80. _____Isusedinthe manufacture

of borax.

A) Washing soda

B) Baking soda

C) Sodium hydroxide
D} Sodium sulphate

81. Sliver articies become black after

some time when exposed to alr. This
coating.

Is because of

A) Silver sulphate
B) Silver oxide

C) Silver sulphide
D) Silver sulphite

87.

88.

89,

80.

1.
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B T TRIE F) e HE
B < wrem & Ry wr wE § |

A) H,S0,

B) HNO,

C) H,PO,

D) HCI

o tukiekichichick 3tk
T % T8 1 R 1R

A) 33TE ufre

B) fadmifes wfas

C) Wiigs tftre

D) =getew wfis

CIEREIE A
A) Tfemm FEHE
B) ®ifsaw ¥gem FEhe
C) wifea dgfetie
D) wifiam st

e & fmfor % farg o
IEm e |

A) =i |

B) wfém @

C) uifewm fgfwhe

D) Sifim weihe

w1 % T o % F0 e AR i &
2T S B T § | T R
AR |

A) e aske

B) fére stiade

C) Tt uewrge

D) et aete
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92,

93.

94,

95.

86.

Bronze is an alloy of
A) Cu&Zn
B) Cu& Sn
C) Cu&Pb
D) Cu&Ti
is an alloy used for

welding electrical wires.
A) Bronze

B} Brass

C) Solder

D) Steel

is a major component of
CNG.

A) Methane
B) Ethane
C) Propane
D) Butane

For the hydrogenation of vegetable
oils is used as catalyst.

A) Pt
B) Ni
C) Pd
D) Ag

pH of milk of magnesia is
A) 11

B) 10

C) 115

D) 10.5
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92,

g3.

94.

95.

g6.

HE FUH g
A) Cu&Zn
B) Cu& Sn
C) Cu&Pb
D) Cu&Ti

forrett % arll ) Sired & forg
Torst g =1 ST R ST R )
A) Hig
B) diaet
C) firem
D) s

CNG &1 & 9 g
A) e
B8) 3o
C) W
D) =geA

FAER A & RS & R
! IO & I I R S R |

A) Pt
B) Ni
C) Pd
D) Ag

R & qu % pH 2
A) 11

B) 10

C) 11.5

D) 10.5
1 PECE
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97.

98.

99.

100.

The atmosphere of Venus is made up
of thick white and yellowish clouds of

A) H,SO,
B) HCI

C) HNO,
D) HSO,

acid is present in Tomato.
A) Oxalic
B) Citric
C) Tartaric
D} Methanoic

Aqueous solution of sodium chloride
is called

A) Brine
B) Milk of magnesia
C) Washing soda

D) Baking soda

Bleaching powder is represented as
A) CaCIO
B) CaOCI
C) CaOCl,

D) Ca,0Cl,

Page No. 26

97.

g8.

99.

100.

I 1 STaTE FEA
THT R die Fee T R |

A) H,SO,

B) HCI

C) HNO,

D) HSO,

TR H e HcE At |
A) sfaiferr

B) Rif¢=

C) i

D) RYHigH

sefifem vt
T B

A) CaCIO

B) CaOCI

C) CaOCl,
D) Ca,0Cl,

=1 R
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101. The ratio of sine of angle of incidence
to the sine of angle of refraction is a
constant for given pair of media. This
law is known as '

PHYSICS

A) Maulas law
B) Snell's law

C) Stefan's law
D) Pascal's law

102. Which among the following has a
larger refractive index ?

A) lce

B) Carbon
C) Diamond
D) Ruby

103. The effective diameter of the circular
outline of a spherical lens is called

A) Aperture

B) Optic center
C) Pole

D) Principal focus

104. The focal length of a plane mirror is
A) Zero
B) One
C) Infinity
D) Two

105. Sl unit of power of a lens is
A) Metre
B) Dioptre
C) Centimeter
D} Steradian
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wifoes Ram

101. RuTgmem g % fiw svady s s
1Y AT T FH T H IR R

2 | 59 firgid i Fel o 8
A) e =1 fim /g
B) & T fargia /fam
C) ¥iew 71 Fram /g
D) e o frgia/fam

102, Fr=fafa # @ frme soadaies g
TR 7
A) 7% /ftm
B) $TE4
C) &
DR IED

103. THTICIEhR o i JTR 98T & e
] T FEI A 2
A) foz
B) gfee &3
C) o
D) wum Fzfag

104. THaw 340 ) BrHd wa gidl 2

A) I3
B) @&
C) afaan
D) €

105. o8 #) nfFr i v, sFE &
A) He
B} featicx
C) dfedix
D) wufewm
1 PECE




-

106.

107.

108.

109.

110.

S| unit of potential difference is
A) Ampere

B) Volt

C) Coulomb

D) Joule

1 ohm is equal to
A) lampere
1volt
B) 1 volt x 1 ampere

C) 1volt
1ampere

D) 1 volt x {1 ampere)?

If the length of the metallic wire is doubled
then the resistance of the wire

A) reduces by half

B) doubles

C) reduces by %

D) quadruples

St unit of resistivity is
A) Qm
C) Q

B) & 'm™
D) Qm

When the resistors are connected in

serjes then

A) Current through each resistor is
same as the total current in the
circuit

B) Voltage across each resistor is same
as the total voltage in the circuit

C) The sum of the current passing
through each resistor is same as the
total current in the circuit

D) The effective resistance is less
than the smallest of the individual

resistance

106. fryaiat s g, IE, T @

107.

108.

109.

110.
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A) TR
B) diee

C) T
D) &

A) 1@‘“
19

B) 1 diee x 1 THRT
C) 19
1 T

D) 1a‘séx(1qmnm)=

2 g 36 AR A T A A WG, N
IR IR

A) 38 3 Fw T}

B) STV BT 8

C) U s & w8 e #

D) < B @

SRRl Sl T, 3. 78 3
A) Qm B) Q' m™
C) Q D) Qm-

o wRrEE # g@en # gl S 8,
T

B) el TRt & el Srees i
¥ T Ao 5 GHA o &

C) A TRius ¥ TewaT Fr@awT
;rmﬁ;m%gﬁﬁga Ul % THH

D) G B Faffes SRt & e sfedd
W B @
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111,

112.

113.

114,

According to Fleming's left hand rule,
the fore finger Is pointed towards the
direction of

A) Electric current

B) Magnetic fleld

C) Force exerted

D) Motion of the conductor

The device that detects the presence
of a current in a circuit is

A) Voltmeter

B) Galvanometer
C) Resistor

D) Diode

The basic phenomenon of working of
an eiectric generator is

A) Electromagnetic induction
B) Hall effect
C) Ferroelectric effect

D) Photoelectric effect

A rectangular coll of copper wire is
rotated in a magnetic field. The direction
of the induced current changes once In
each

A) 2 revolutions

B) 1 revolution

C) half revolution
D) %"'revolution

Page No. 29

111,

112,

113.

114,

AT % g ey % Fram & STen, ao
i G awmidi & |

A) Tarega wars

B) Yehi &7

C) Srafsia sl

D) wames it ifa

T§ ITF S forell ity o fogge &
IfRTY 1 v W T R

A) areriet

B) feaHiiet
C) it
D) sHS

forege St ¥ e % wRa gRETE
o

A) TARAIH ST
B) i IME

C) WigafFes =
D) wRITsfERS e

% % qR F (F AN HEA T
gearehig & & g e § | e frga wi
Hfmyds_ dvieffadd )
A) 2 uiq

B) 19

c) ) T

D) Y4 i
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115.

116.

117,

118.

Magnetic field lines are shown closer
together where the magnetic field is

A) Stronger
B) Weak
C) Constant

D) None of the above

Image formed by a plane mirror is
always

A) Virtual and erect
B) Real and inverted
C) Virtual and inverted
D) Real and erect

The imaginary line passing through
the center of curvature and pole of a
spherical mirror is

A) Principal focus
B) Principal axis
C) Focal length
D) Parallel ray

A ray parallel to the principal axis after

reflection from a concave mirror will
pass through

A) Principal focus
B) Principal axis
G) Radius of curvature

D) Center of curvature

Page No. 30

116.

117.

118.

115, g 8 vara! = o A feramn s

% el i & 1 4
A) weis[d
B) T&

C) g™

D) s # & g el

o gee @i g Pt ofy e W
LGRS

A) T 3t @et

B) SRl IR I
C) 2w TR I
D) areafa® R el

o Tenr Fdu 1 T $3 oK gF
B AT Fied e 1@l

A) Tum Hz-forg

B) wum gl

C) kel T

D) |umiR ferTm

e 4v § WA & e TE A F
AT R B A SRR # )
A) wuH FE-Teg
B) wur g
C) Fsa e
D) <l 1 %
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119.

120.

121.

122,

The size of the image formed by
a convex mirror when an object is
placed at infinity is

A) Point sized
B) Enlarged
C) Large

D) Same size

The type of mirror used by dentists
to see larger images of the teeth of
patients is

A) Concave
B) Convex
C) Plane

D) Plano-convex

The twinkling of star is due to

A) Atmospheric refraction
B) Atmospheric diffraction
C) Atmospheric dispersion

D) Scattering of light by the particles in
the atmosphere

The scattering of light by the colloidal
particles is

A) Thermal effect

B) Balwin effect

C) Raman effect

D) Tyndall effect
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119.

120,

121.

122.

W U 9% I Saa ¥ @S g, a9
Jud gdu g e By o sTeR B
A} g =1 atR

B) =gl gan

C) famm=

D) ww™ W

%o fafercess gro Afft & el i o ofe
=i o % forg s Ry st adur
YRR B

A) T

B) 3waret

C) waaa

D) wwR=i

AR < femfenea #1 w3

A) TRIHEE TgEd

B) arqHesa faada

C) Irgeseiy ufia

D) aryreefa =il F TR v 1 il

HicTEe ST GRI YT =1 frefof &
A) wid gvE
B) STere I
C) THH N
D) dea yvE
1 PECE




123. The blue colour of the sky and the
redding of sun at sunrise and sunset
is caused due to
A) Scattering of light
B) Reflection

C) Thermal effect
D) Atmospheric diffraction

! 124. One ampere current is

A) 1 coulomb
1second

B) 1 coulomb x 1 second

2 coulomb
1second?

‘ D) 1 coulomb x 1 second?

125. Potential difference between two
points is equal to

A) Work done

Charge
B) Charge x Work done

C) Charge
Work done

D) (Charge)?
Work done

1 126. Conductors of electric heating devices

| such as bread toasters and electric
irons are made by alloy rather than pure
metals because

A) Alloys have low resistivity
B) Alloys have high resistivity
C) It is not dependent on resistivity

—_——

D) None of the above
:

123, TeRTe & fren T 3 g IR
¥ w g 3 e 1 1 H R

A) Tl T

B) W&

C) avid yvE

D) argreey R
124, T i R e R

1 5o
A 3=
B) 1 5o x 1 &%

c) 23
1o
D) 1 Fens x 1 ¥ehe?

125. B firgadi 3 sha 3 favaian 3 s @

A) frat T SE
TR

B) T x Reen TN T

TR
C) ot T wE

D) _(MR?
e T wH

126. ¥e e iR forega v 9 forge il &
g 3 aTeh Y8 Hgat & e e
oITg T S ST § TR
A) T argadt # sieRan &5 Bt 8
B) fivar emgadt & e 3t g §
C) e wherweRar o i e gl @

D) Iwdaa © | Fig T

1 PECE

e



2

e

e —

g S S

o

127. A current through a horizontal power

128.

129,

line flows in East to West direction. The
direction of magnetic field at a point
directly below the power line is

A) North to South
B) South to North
C) West to East
D) East to West

The magnetic field due to current

carrying circular coil having n turns is

A) n? times as large as that produced
by a single turn

B) ntimes as large as that produced by
a single turmn

C) % times as large as that produced
by a single turn

D) will be same as that produced by a
single turn

The strong magnetic field produced
inside a solenoid can be used to magnetise
a piece of magnetic material like soft
jfron when placed inside the coil. The
magnet so formed is called as

A) Electromagnet
B) Diamagnet
C) Paramagnet

D) Permanent magnet
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127. o &fos fegm v aR S mem a s umn

128.

129.

@ A ufem R § yanfeq gt @ | R
wIfRt A % T i < foig g &
) fam el &

A) I A g
B) 2w & I
C) M A
D) 4 & uffem

n gaEaTe fgd U 98 weaR

TSR HEell % FRU gaehia 83 Bl 2

A) n? % &9 & o1t A § wRet 9 R
IqTiea

B) n WR & ¥ # 7t "1 ¥ UHet IR} FR
Iearfea

C)%an%@wﬁmammﬁnﬁaamam
ELHEG

D) e STl FR e & WA

TRATRERT % 3feR Ieifed werg Herhtd
1 1 T e % ST @ T YT
AT 3R T o 6 g gEa T
¥ fore e <11 wera R | W) g oWaT €,
I HE AT R

A) forga g%

B) wiergash

C) T

D) ¥t o
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130.

131.

132.

133.

The magnetic field inside a long straight
solenold carrylng current

A) is zero

B) decreases as we move towards its
end

C) increases as we move towards its
end

D) Is the same at all points

The safety device used for protecting
the circuits from short circuiting is

A) Resistor
B) Fuse

C) Motor

D) Generator

The direction of the electric current is

taken

A) Same as the direction of flow of
electrons

B) Opposite to the direction of flow of
electrons

C) Perpendicular to the direction of flow
of electrons

D) There is no direction for the current
due to flow of elsctrons

A piece of wire of resistance R is cutinto
five equal parts. These parts are then
connected in parallel. If the equivalent
resistance of this combination is R,

the ratio %’ is

A Yos

C) 5

B)}g

D) 25
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130. fogga w1 98R FeE @ W@ @9

131.

132.

133.

TRefeTE % iR e &
A) A g

B) S8~ B9 37 # AR 70 §, ved
Bk

C) M i g9 3ia A i@, Tga TR
D) w+ft firgefi v S &

1Y ufay (71 wihe) & uiay 6 gan
% Tore 3w formn StrraTen guan
JIHT B

A) sfedas

B) w1
C) ™K
D) SR

forega e <t fom oft et 2

A) et it vae ) R % o
B) soagH! it waTe ot R & favda
C) TRt % was it R % waaq

D) TR 35 e 35 e frege 5 R e
fom T

e R & AR 1 ghe qiT TeE Wit
# e Sl ® | [ 9w R T
% SigT e 3 | AR 9w 1 anged
g R 2, @ %.ms@rﬁ%

A Yos B %

C) 5 D) 25
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134. Which of the following is not an example
of conventional energy source 7
A) Wood
B) Gobar gas
C) Nuclear energy

D) Coal

135. Which among the following Is a
non-conventional source of energy ?
A) Fossil fuel
B) Solar energy
C) Hydro power plant
D) Wind energy

136. Retina ofthe eye is a
A) Light sensitive screen
B) Lens
C) Object
D) Aperture

137. The human eye can focus objects at

different distances by adjusting the
focal length of the eye lens. This is
called

A) Presbyopia
B) Accommodation
C) Near sightedness

D) Far sightedness

138. The change in focal length of an eye
lens is caused by the action of the

A) Pupil

B) Retina

C) Cilliary muscles
D) Iris
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139.

140.

141,

142.

The power of accommodation of the
eye usually decreases with ageing. This
condition is called as

A) Myopia

B) Presbyopla
C) Hypermetropia
D) Astigmatism

Among the following colours which
bends the most when white light
undergoes dispersion is

A) Indigo

B) Red

C) Orange

D) Yellow

Equivalent resistance (R,) of the parallel
combination when two resistors R, and
R, are connected in parallel is equal to

R, +R,
Sl

RR
ke Ty

c) R =Fi=R
" R,+R,

RR.
R, +R,

D) R, =

According to Joule's law of heating, the
heat generated due to electric current
is given by
A) H = I*Rt
B) H=IRt
C) H=IR%
D) H=IR?
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A) H = IRt
B) H = IRt
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143.

144,

145.

146,

1 watt of power is equal to
A) IW=1Vx 1A
1A

B) W=

c) w=V
T

1v2
D) itW= TN

The commercial unit of electrical
energy is

A) Kilowatt hour

B) Kilowatt

hour
C) Kilowatt/hour?

D) Kilowatt (hour)?

The resistance of a wire is

A) directly proportional to its area of
cross section

B) inversely proportional to its area of
cross section

C) independent of its area of cross
section

D) proportional to square of its area of
cross section

The magnetic field of a solenoid carrying
a current is similar to that of a

A) Bar magnet
B) Resistor
C) Electric motor

D) fron core
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147. The AC supply to the houses is of

148,

149,

150.

220V, 50 Hz. One of the wires in this
supply is with red insulation called as

A) Live wire

B) Neutral wire

C) Earth wire

D) None of the above

The phenomenon of Electro-magnetic
induction Is
A) Process of charging a body

B) Process of generating magnetic
field due to a current passing
through a coll

C) Inducing electric current in a coll
due to relative motion between a
magnet and the coil

D) The process of rotating a coll of an
electric motor

At the time of short circuit, the current
in the circuit

A) Reduces substantially

B) Does not change

C) Increases heavily

D) Vary continuously

The device used for producing electric
current is called as

A) Generator

B) Galvanometer

C) Ammeter

D) Motor

N

147,

148,

149.

150.

i # AC 6 emyff 220 V, 50 Hz #i 8 |
g & N 3 B O I e % 9
3, Tl wer T &

A) T am

B) wewy AR

C) 3 arR

D) Iude & =g et

frg -~ SR i we @
A) T TETd F IR F i 1w

B) TF $&w & o faga TRt % wR9
Yo 8 3w FA A it

C) T Uo= iR Fea & e anig 7fa &
H et § Iia Rrga gra 0= Fwon
D) firera HYet % Sreet it goM i Wik

oy Ry (3T wife) % wmm, aiey #
Torreh o forga

A) WYL 8 F I8

B) &l s &

C) st aga ?

D) TR wEeal &

form e % Ire * forg swEm fRg
AETS! YA < HET ST 8

A) SR

B) fregeirfiet

C) Tl

D) W
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Answer Key for 1 PECE (Set-D)

Q. No. | Answer Rey | U.No. | Answer Key 0. No. | Answer Key
1 B 51 B 101 | B
2 c 52 B 102 | C
3 D 53 B 103 | A
4 B 54 D 104 | Cc
5 C 55 C 105 B
6 D 56 A 106 B
7 C 57 B 107 C
8 G 58 C 108 B
9 B 59 D 109 A
10 A 60 B 110 A
11 B 61 C 111 B
12 B 62 A 112 B
13 B 63 A 113 A
14 A 64 D 114 c
15 C 65 B 115 A
16 B 66 C 116 A
17 A 67 A 17 B
18 D 68 D 118 A
19 c 69 o) 119 A
20 A 70 B 120 A
21 A 71 c 121 A
22 D 72 B 122 D
23 B 73 A 123 A
24 D 74 D 124 A
25 A 75 C 125 A
26 C 76 C 126 B
27 A 77 A 127 A
28 A 78 D 128 B
29 C 79 B 129 A
30 D 80 B 130 D
31 c 81 B 131 B
32 A 82 C 132 B
33 B 83 B 133 D
34 A 84 A 134 ©
35 D 85 D 135 B
36 D 86 C 136 A
37 A 87 D 137 B
38 B 88 B 138 c
39 D 89 B 139 | B
40 C 90 A 140 A
41 A 91 C 141 D
42 C 92 B 142 | A
43 D 93 C 143 | A
44 A 94 A 144 | A
45 B 95 B 145 B
46 B 96 B 146 A
47 D g7 A 147 | A
48 A 98 A 148 | C
49 C 99 A 149 C
50 D 100 C 150 A




